PL     -     MAT      -     4.B         Násobenie a delenie

1. Vynásob:
	8 . 3 = 
	4 . 9 = 
	8 . 0 = 
	7 . 7 = 

	4 . 8 = 
	8 . 8 = 
	2 . 3 = 
	10 . 8 = 

	8 . 9 = 
	9 . 3 = 
	6 .7 = 
	7 . 4 = 



2. Vydeľ:
	18 : 3 =
	24 : 8 =
	64 : 8 =
	  0 : 3 =

	56 : 8 =
	81 : 9 =
	9 : 9 = 
	21 : 3 =

	14 : 2 =
	90 : 9 =
	40 : 5 =
	63 : 9 =



1. Vynásob:
	8 . 5 = 
	9 . 5 = 
	3 . 8 = 
	4 . 7 = 

	7 . 2 = 
	9 . 4 = 
	3 . 4 = 
	10 . 6 = 

	6 . 6 = 
	9 . 5 = 
	5 .7 = 
	8 . 6 = 



2. Vydeľ:
	27 : 3 =
	56 : 8 =
	40 : 8 =
	  24 : 3 =

	64 : 8 =
	18 : 9 =
	36 : 9 = 
	 30 : 6 =

	16 : 2 =
	27 : 9 =
	45 : 5 =
	 72 : 9 =



